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Part I:
The following questions

1. Whatisthe 5-n
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are based on problem #1a from Part I:

umber summary of Credit Card Debt? (6 poir#s)
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2. What is the mean and standard deviation of Weight for Merﬁonly? (6 points)

Lean

Sh. Dey

The following questions

3. Consider the pi
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are based on problem #1b from Part I

ot table of Have Tried vs. Dwell Type. Supp

selected from the pool.
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What is the probability the person has not tried the prod
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What is the probability that the person both has not trie

yrobability that the person lives in a Home?

YRse= 0.4

/856 = (0 2049

e a survey respondent is randomly
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he product and lives in a home?




d. What is the probability that the person has not tried the product given that they live in a home?
(6 points)

[F/ 40t = O 433

e. What is the probability the person lives in a home given that they have not tried the product?
(6 points)

ARl = 0485

f.  What is the probability that the person has either not trie
(6 points)

d the product or lives in a home?

(40%38_0{ ~\:1&“)/&S’b = 10 68 9

g. Are the variables Have Tried and Dwell Type independen ? Why or why not? Show math to

support your conclusion. (10 points)
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The following question

5. Using your histq
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he survey takers reported that type of dwel
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e based on problem #2 from Part |:

tion? Report the linear regression equation

R* = 04037

bgram of Car Value, describe the shape of the distribution. (
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terplot of your three variables vs. Blood pre
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10. Interpret what the R? value means in the context of the data. (8 points)

2, 9% %waMﬁ 4 MW""“‘
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11. Did any of the variables produce a negative correlation? W ich one? Why does this make sense
in the real world? If none of them produced a negative corrélation, explain why that makes
sense given the variables. (6 points)

o

The following question refers to problem #3 of Part I:

13. What is the meT and standard deviation of the probability distribution provided? (6 points)

Meaa.  ¥.35
Shdeo )6

The following questions refer to problem #4 of Part I:

14. Report the values of the three probabilities you calculated: nbrmal approximation, binomial
formula, simulation. Label each clearly. (8 points)

novnal approy — 0,060 |
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Sonudalion — O/(o‘?zf




15. We discussed three different categories of probabilities: cldssical or theoretfcal, experimental or
observational, and personal or subjective. Two of those ty

es are represented in this question.
Which two? Give an example of the missing one. (8 points
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Calculations in Excel: (1) 40 points, (2) 20 points, (3) 10 points, (4) 20 points.

Part II:

16. Suppose that the annual return on XYZ stock follows a norm
standard deviatjon 5.2%.

a.  What is the probability that XYZ's value will decrease dufing the following year? (i.e. percent
return will be less than 0%) (8 point- !

I distribution with mean 10% and

O0.02%

an 16%? (8 points)

ROV

% chance of exceeding that

b. What is the prm be greater

/

C.  For what percent return value does XYZ stock have only
value? (8 points)

86

d. What is the probability of XYZ’s rate of return will fall betq{een 8% and 10%? (8 points)

14 .97,




17. Suppose that Comdell Computer receives its hard drives frqm Diskco. On average, 2% of all hard
disk drives received by Comdell are defective.

a. Comdell hgs adopted the following policy: It samples 25 hard drives in each shipment and

accepts the shipment if all hard drives in the shipment are not defective. What fraction of
shipments will Comdell accept? (6 points)

& 603

b. Suppose instead that the shipment is accepted if at most one hard drive in the sample is
defective. What fraction of shipment will Comdell acceﬂ)t? (6 points)

0.9/

c.  What is the probability that a sample size of 25 will cont@in at least 1 defectives? (6 points)

0.376S

Upload your completed Excel files (both of them!) to the Final Exam ko be graded submission box in

Blackboard and submit your completed paper exam to your instructdr. You may not modify anything
once the exam is submitted.

P(Aor B) = P(A) + P(B) — P(Aand B) P(A|B) :P(AP%B—)
p=EWX) =T xp(x) o? 2 Var(X) = %(x; — u)?p(x,)

Hbinomial = NP Uginomial =np(l—p)




